F % L E Agency Leesburg PD

INSTRUMENT PROCESSING SHEET

s/N 80-000824

Florida Department of  patein 7/30/2019
Law Enforcement

DI Completion Date 3!["3{[6[ %smp Op/u QH/D Qcml QEE

intake Performed By DP Quality Checks Performed By Flow Calibration Perfarmed By
@ Annual Breath Tube Screen Flow Column #
U Registration  Replace External O-Rings Qs5L/min—17mm
U Return from CMI / EE !nstrument‘Setfl;J'J Verified Q 15L/min = 53mm
Visual Inspection: R-Value : r-l;l O 30L/min = 103mm
Flow Verification (L/s) O R-value
@ Case 4 Handle ; 2 : - TR
Keyboard @ Dry Gas Shelf low Column # O Post Calibration Verification (L/s)
32mm__ il (.139-.169) | Flow Column #
4 Feet 4 Breath Tube
i e @ Screws Tight 36mm__ ¢ | (0D (.156 -.190) 32 mm (.139 -.169)
_ _ $3mm__+ A3 (228-.278) | 36 mm (.156 - .190)
Other Equipment/ AcCt_ESSOFIES-' 03mm__» 5077 (.447 - .547) 53 mm (.228-.278)
\ Power cord U Printer Cable gBarometric Pressure Check 103 mm (.447 - .547)
@ Static Bag 0 12V DC Cable Gauge ID#_ )
Notes: B4 stability Checks Maintenance  Performed By
‘Simulator | Serial # Lot #/Exp O Battery Replacement
o O Dry Gas Regulator Replacement
d
0030 SD ) hQ Oog‘ {Lfb;ﬁ (O Breath Tube Replacement
Final Release Date 0.080 ) O]Cl“ 05 R U Other
FDLE ' D LQ’IQ' e lft 3 i’ Temperature Checks Performed Byﬂ
- Lab Temp °C
0.200 ] ‘;U \ C{{‘!L&D Exteﬁal Di
V1 gital Therm. ID#: ?XK}
AUG 15 209 Shol3 S-30-9 1 gazwu.z Serial #: SB Q\D-
Alcohol Testing 0.080 DGS N/A AGX3IS0Y 349C +-2 Serial#: D¥AI]
Program L -14-306 W 340C+-2 serial#: SDIOISB
Calibration Adjustment 1011 Performed By "m0 Department Inspection Performed By R
Barometric Pressure Gauge_ O 1@ 1ID#__ XS 43 Barometric Pressure ID#
Simulator | Serial Number | Lot Number | Expiration Gauge __J O Instrument D (2
0.000 53144 N/A N/A Mouth Alcohol Solution Lot # 20(5-R
0.040 60'2 L‘C,% [ (,?080 3__ 11[ ‘Q. \ Acetone Stock Solution Lot # :;;D\q ——ﬁ'
- = : . Simulator Serial Number
0.100 ) i o2
(23519 l?_?bo i _3. JO|| 5000 GAY0R
il 6])‘0‘61 90 HO | -9 '&{ Interferent L AEE R
0.300 asi4q [ 4iYe! 4 -2-30| | [o.050 SDIDL Y
0080065 | /A NS Mooz §-5-19 ] | [o080 Do
& Post Calibration Adjustment Stability Checks 0.200 SDIOIVD
’Simulatar Serial Number | Lot Number | Expiration Attachments
D.0%0 SDIOVE. | 219058 | 5-]14-2 Form 41 W Post-Stability Checks % 2]
0.080 DI ] q .QO 90513 | 5-14 =2\ Stability Checks O Flow Calibration
0.200 16' DOV (QD ]C?Ot}') y -23D-al Calibration Certificate O Form 40
0.080 DGS N/A ) %%.6@4 i l’ ( L‘f ao ﬁCalibration Adjustmenth {Q Other
HGr S0 it
Notes/Suggested Service: T ua' 137 'Fﬁinstrument Complies with Chapter 11D-8, FAC
DGS used ip And dad Adaust O Instrument Does Not Comply with Chapter 11D-8, FAC
Lot # 051905002 Exp. 2[5]apal [ Return to/Place into Evidentiary Use
x == O Remain Out of Evidentiary Use _
B Conduct an Agency Inspection Before Evidentiary Use
W /4 /i? Lt Fulebored 5’///‘1/?
Tech Review / Date Admin Review / Date”

FDLE/ATP Form 48 January 2018
Issuing Authority: Alcohol Testing Program

PRINTED COPIES UNCONTROLLED
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Florida Department of Law Enforcement
Alcohol Testing Program

DEPARTMENT INSPECTION REPORT - INTOXILYZER 8000

Agency: LEESBURG P.D. Serial Number: 80-000824
Time of Inspection: 14:04 Date of Inspection: 08/13/2019 Software: 8100.27

Check or Test YES NO Check or Test YES NO
Diagnostic Check Date and/or Time Adjusted

(Pre-Inspection): OK Yes No
Minimum Sample Volume Barometric Pressure Sensor

Check: OK Yes Check: OK Yes

Alcohol Free Subject Mouth Alcohol Test:

Test: 0.000 Yes Slope Not Met Yes

Interferent Detect Test: Diagnostic Check

Interferent Detect Yes (Post-Inspection): OK Yes

Alcohol Free 0.05g/210L Test 0.08g/210L Test 0.20g/210L Test 0.08 g/210L

Test (g/210L) (g/210L) (g/210L) Dry Gas Std Test
(g/210L) Lot#:201905A Lot#:201905B Lot#:201904D (g/210L)

Exp: 05/14/2021 Exp: 05/14/2021 Exp: 04/30/3021 Lot#:AG916501
Exp: 06/14/2021

0.000 0.049 0.080 0.199 0.080

0.000 0.050 0.080 0.200 0.080

0.000 0.050 0.080 0.200 0.080

0.000 0.050 0.080 0.200 0.080

0.000 0.050 0.080 0.200 0.080

0.000 0.049 0.080 0.200 0.080

0.000 0.050 0.080 0.200 0.079

0.000 0.050 0.080 0.201 0.080

0.000 0.050 0.080 0.200 0.080

0.000 0.049 0.080 0.200 0.080
| standard Deviations | 0.0004 0.0000 0.0004 0.0003 ]
Average Standard Deviation of 0.05, 0.08 and 0.20 g/210L Tests: 0.0002 Number of Simulators Used: &S : (;‘f\

(LY
Remarks: \f v\
%\»\\\‘\

The above instrument complies ( X ) does not comply ( ) with Chapter 11D-8, FAC.

I certify that I performed thi ctlon 1 accordaa' 1th t e provisions of Chapter 11D-8, FAC.
/ / SHAYLA D PLATT

\_jgnature and Prlnted Name

08/13/2019
Date

FDLE/ATP Form 41 —Revised A ugust 2005
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